WXEHES

FR271F4A1BADFERM28F3AIHET

DNBHFAENEBEREEEAR—VHE

HEESE
(Bifsi: M)
®B REEE FE% =2
I BEIFRZOE
1 BEFTERA
BEEEERINA [ 1,701,980 1| [ 1,701,975 1| [ 5 ]
BFEEEMBRIA 1,701,980 1,701,975 5
EERIRA [ 500,000 1|I 447118 1([ 52,882 ]
ZEESBERA 500,000 447118 52,882
HHMEERA [ 2,253,000 1| [ 2,253,000 1|[ 0 ]
52 H R EILA 2,253,000 2,253,000 0
URA [ 1,050 1| 1,639 1|1 A 589 ]
SZEFEURA 1,050 1,639 A 589
EERFHINAGT 4,456,030 4,403,732 52,298
2 BEIPXH
EXEIH [ 4,101,725 1| 4131611 1L A 29,886 ]
WREXBEXH 81,227 81,227 0
RIEEMREXH 4,520 4,520 0
HEREXH 190,432 190,432 0
fRIEH S H 4132 4,132 0
B ok ] 177,660 177,660 0
B & 3,620,892 3,641,930 A 21,038
MZH 22,862 31,710 A 8,848
ZTOMDEEFETH [ 1,216,298 1|[ 1,216,298 1| [ 0]
ZTOMDOEEFE N 1,216,298 1,216,298 0
EXREBRHE 5,318,023 5,347,909 A 29,886
BEEHNZERE A 861,993 A 944177 82,184
I BEFEBRIZOEH
1 JBEEFERA
BEERBIRAG 0 0 0
2 BEIFEXH
BEEHIHE 0 0 0
BEEHINTELE 0 0 0
I EAFEEIRZ DA
1 BAESEEIRA
B FSIEEIRA G 0 0 0
2 BEEEXH
MRS X HET 0 0 0
RN E4E 0 0 0
LHINT =58 A 861,993 A 944177 82,184
ATHARR BN = %E 5,619,564 5,619,564 0
RERGEBAIR X =40 4,757,571 4,675,387 82,184




WXEHES

FR271F4A1BADFERM28F3AIHET

DNBHFAENEBEREEEAR—VHE

HEeadt EFEEEZEXR—VEBLTREX(REES)
(Bfr:[)
®B REEE FE% =2
I BEIFRZOE
1 BEFIERA
EEIBINAGH 0 0 0
2 BEEIZH
EXEIH 399,300 ] 400,164 A 864 ]
B & 397,572 397,572 0
M H 1,728 2,592 A 864
FOMDEEFETH 200,864 ] 200,864 0]
T EEFEH 200,864 200,864 0
EEIBZHE 600,164 601,028 A 864
EXFYNRER A 600,164 A 601,028 864
I BETEBRIZOE
1 BREFRERA
BEEBIRAG 0 0 0
2 BEERBXH
BERXZHE 0 0 0
BERBIRZ =S 0 0 0
I BEAFEEIREZOE
1 BAESEENRA
B EEIR AT 0 0 0
2 HEEEXH
B EE X 0 0 0
MR EIIN S E4E 0 0 0
LHINT =58 A 600,164 A 601,028 864
AR = %E A 527,592 A 527,592 0
REAIEIR X 58 A 1,127,756 A 1,128,620 864
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DNBHFAENEBEREEEAR—VHE
EERF

BEAIRXSREFXESEREASR)

(Bifsi: M)
®B REEE FE% =2
I BEIFRZOE
1 BEFTERA
BEEEERINA [ 1,700,000 1| [ 1,700,000 ] 0 ]
BFEEEMBRIA 1,700,000 1,700,000 0
EERFHINAGT 1,700,000 1,700,000
2 BEIPXZH
EXEIH [ 1,934946 1| 1,956,632 1 A 21,686 ]
B & 1,922,310 1,943,348 A 21,038
M H 12,636 13,284 A 648
FOMDEEFETH [ 564,536 1| [ 564,536 1 o]
T EEFEH 564,536 564,536 0
EXRFHZTHE 2,499,482 2,521,168 A 21,686
EXFYPNIER A 799,482 A 821,168 21,686
I ¥BETEBRIZOEH
1 JREEFERA
BEERBIRAG 0 0 0
2 BEFEXH
BEERHXZHE 0 0 0
BRERBIRZ =S 0 0 0
I BEAFEEIREZOE
1 BEENRA
BRI AT 0 0 0
2 HBEEXH
B EE X 0 0 0
MR EIIN S E4E 0 0 0
LAY AR A 799,482 A 821,168 21,686
AR = 4E A 19,999 A 19,999 0
REARRBINZ =48 A 819,481 A 841,167 21,686
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DNBHFAENEBEREEEAR—VHE

HEESE EEEXAR—VEEEERET S (REES)
(Bifsi: M)
®B REEE THEE =2
I BEIFRZOE
1 BEFTERA
EERIRA [ 500,000 ]|I 447118 1([ 52,882 ]
ZEESBERA 500,000 447118 52,882
EERFHINAGT 500,000 447,118 52,882
2 BEIPXZH
EEEXH [ 460,563 1| [ 460,563 1| [ 0]
WREXBEXH 81,227 81,227 0
BEEREXS 4,520 4,520 0
HEREXH 190,432 190,432 0
RIS H 4,132 4,132 0
EoE ok -] 177,660 177,660 0
HXH 2,592 2,592 0
BEFHIHE 460,563 460,563 0
E % SEEINEE- 39,437 A 13.445 52,882

I HEFHRZOH
1 REFBIRA

REFBBIAG 0 0 0

2 BREFPXH
REFHIHE 0 0 0
REFHNXEE 0 0 0

I BHEBHNZOE
1 BAFEEIA

BAF5 BN A G 0 0 0

2 HEEEXH
B EE X 0 0 0
SRR E4E 0 0 0
LHINT =58 39,437 A 13,445 52,882
ATEAfRIIN X £ 58 A 206,670 A 206,670 0

REEBIN =58 A 167,233 A 220,115 52,882
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WXEHES
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HEeadt RR—VEMEBE(REES)
(Bfr:[)
#H REEE FE% =2
I BEFBIRZOLH
1 BEFIERA
BEFREINAG 0 0 0
2 BEEIZH
BEFREHIHEH 0
BEFHINKESRE 0 0 0
I ¥BETEBRZOE
1 BREFRERA
REFEIRAGT 0 0 0
2 HREFEBXH
BEERHZHE 0
BEFBNZESE 0 0 0
I BEAFEEIREZOE
1 BAEEENRA
B 7SR eI A G 0 0 0
2 HEEEXH
B EE X 0 0 0
BRI E5E 0 0 0
LN £ 0 0 0
AR = %E A 90,660 A 90,660 0
REAIEIR X 58 A 90,660 A 90,660 0
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DNBHFAENEBEREEEAR—VHE
EERF

BEEERR—Y IR T/NILEESE(XIESY)

(Bifsi: M)
®B REEE FE% =2
I BEIFRZOE
1 BEFTERA
HHMEZERA 300,000 ] 300,000 ] 0 ]
52 H R EILA 300,000 300,000 0
EERFHINAGT 300,000 300,000
2 BEIPXZH
EXEIH 300,000 ] 302,800 1 A 2,800 ]
B & 300,000 300,000 0
M H 2,800 A 2,800
ZTOMOEEFH I H 149,170 1 149,170 1 o]
T EEFEH 149,170 149,170 0
EXRFHZTHE 449,170 451,970 A 2,800
EXFYPNIER A 149,170 A 151,970 2,800
I ¥BETEBRIZOEH
1 JREEFERA
BEERBIRAG 0 0 0
2 BEFEXH
BEERHXZHE 0 0 0
BRERBIRZ =S 0 0 0
I BEAFEEIREZOE
1 BEENRA
BRI AT 0 0 0
2 HBEEXH
B EE X 0 0 0
MR EIIN S E4E 0 0 0
LHINT =58 A 149,170 A 151,970 2,800
AR = 4E A 84,949 A 84,949 0
REARRBINZ =48 A 234119 A 236,919 2,800
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DNBHFAENEBEREEEAR—VHE
EERF

BEAEEXRICEREXE (X1EF)

(Bifsi: M)
®B REEE FE% =2
I BEIFRZOE
1 BEFTERA
HHMEZERA [ 1,753,000 ] 1,753,000 ] 0 ]
52 H R EILA 1,753,000 1,753,000 0
EERFHINAGT 1,753,000 1,753,000
2 BEIPXZH
EXEIH [ 1,006,916 ] 1,011,452 1 A 4536 ]
B & 1,001,010 1,001,010 0
M H 5,906 10,442 A 4536
ZTOMOEEFH I H [ 301,728 ] 301,728 1 o]
T EEFEH 301,728 301,728 0
EEIPZHE 1,308,644 1,313,180 A 4536
EXFYPNIER 444,356 439,820 4,536
I ¥BETEBRIZOEH
1 JREEFERA
BEERBIRAG 0 0 0
2 HBREEBXZH
BEERHXZHE 0 0 0
BRERBIRZ =S 0 0 0
I BEAFEEIREZOE
1 BMEEEBIRA
BRI AT 0 0 0
2 HEEEXH
B EE X 0 0 0
MR EIIN S E4E 0 0 0
LHINT =58 444,356 439,820 4,536
AR = 4E 844,684 844,684 0
REAIZBIR K E 5B 1,289,040 1,284,504 4,536
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DNBHFAENEBEREEEAR—VHE

HEESE BRI AR ZIEEE (LIE2Y)
(Bifsi: M)
®B REEE THEE =2
I BEIFRZOE
1 BEFTERA
HHMEZERA [ 200,000 1[I 200,000 1([ 0 ]
52 H R EILA 200,000 200,000
EERFHINAGT 200,000 200,000
2 BEIPXZH
EEIPZHE 0 0 0
EXFYPNIER 200,000 200,000 0

I HEFPHRZOH
1 BREFPIRA

REFBINAG 0 0 0
2 REFPXH

REFBIHE 0 0 0

REFHNIESE 0 0 0

I BHEBHNZOE
1 BAFEEIA

BAF5 BN A G 0 0 0
2 BAEEEXH

B EE X 0 0 0

AN EEE 0 0 0

LHINT =58 200,000 200,000 0

AR = %E 149,568 149,568 0

RPN ZEE 349,568 349,568 0
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FR271F4A1BADFERM28F3AIHET

DNBHFAENEBEREEEAR—VHE

HEeadt EEE
(Bfr:[)
®B REEE FE% =2
I BEIFRZOE
1 BEFIERA
HEEEERIA 1,980 1] 1,975 ] 5 1]
BFEEEMBRIA 1,980 1,975 5
URA 1,050 ] 1,639 1] A 589 ]
SZEFSURA 1,050 1,639 A 589
BRTEINAG 3,030 3,614 A 584
2 BEEIZH
EEIBZHE 0 0 0
EXFYPNIER 3,030 3,614 A 584
I ¥BETEBRZOEH
1 REFEEIRA
BEEBIRAG 0 0 0
2 BEIEXH
BEERHXZHE 0 0 0
BERBIRZ =S 0 0 0
I BEAFEEIREZOE
1 BMEEEIRA
BRI AT 0 0 0
2 BAEEEXH
B EE X 0 0 0
SRR E4E 0 0 0
LHINT =58 3,030 3,614 A 584
AR = 4E 5,555,182 5,555,182 0
RN 2R 5,558,212 5,558,796 A 584




